EREiEsL HOSE FITTING

<t

JIAYUAN

24° LLI

Fmits

PART NO.

BYE

BZEHOSE BORE

10411Y

N AR Sr24° 4 HETH R 51

METRIC MALE 24° CONE SEAT L.T.DIN 3853

EE4M2 R < DIMENSIONS

THREAD E 2#fA% DN {55 DASH TUBEO.D. A C S1

1 [10411Y-14-04 | M14X1.5 6 04 8 205| 10 14
2 |10411Y-16-04 | M16X1.5 6 04 10 225 | 11 17
3 |10411Y-16-05| M16X1.5 8 05 10 225 | 11 17
4 |(10411Y-18-06| M18X1.5 10 06 12 225 | 11 19
5 [10411Y-22-08 | M22X1.5 13 08 15 26 12 24
6 [10411Y-26-10| M26X1.5 16 10 18 27 12 27
7 [10411Y-30-12| M30X2 19 12 22 30 14 | 32
8 [10411Y-36-16| M36X2 25 16 28 315 14 | 41
9 |10411Y-45-20| M45X2 32 20 35 37 16 | 46
10 |10411Y-52-24| M52X2 38 24 42 38 16 55

T RPRSATRARE  IBATERRKERSHIIL0412Y-XX-XX,

Note:NO. in table match with braided hose.No. of 10412Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

10511Y

2 il A1 IR Sr24° A HE T E R 8

METRIC MALE 24° CONE SEAT H.T.DIN 3853

Fmits B E EZEHOSE BORE EESE R I DIMENSIONS
PART NO. THREAD E 22#¥iA%E DN #5S DASH TUBEO.D. A C S1
1 |10511Y-14-04| M14X1.5 6 04 6 245 | 12 14
2 |10511Y-16-04| M16X1.5 6 04 8 26.5| 12 17
3 [10511Y-18-04| M18X1.5 6 04 10 265 | 12 19
4 |10511Y-18-06| M18X1.5 10 06 10 265 | 12 19
5 |10511Y-20-06| M20X1.5 10 06 12 26.5| 12 22
6 |10511Y-22-08| M22X1.5 13 08 14 31 14 | 24
7 |10511Y-24-08| M24X1.5 13 08 16 315| 14 | 27
8 |10511Y-30-10| M30X2 16 10 20 35 16 32
9 |10511Y-36-16| M36X2 25 16 25 415 18 | 41
10 |10511Y-42-16| M42X2 25 16 30 44 20 | 46
11 [10511Y-52-20| M52X2 32 20 38 50 22 55
T RPASHTRARE  WRATERRENSHINL0512Y-XX-XX,
Note:NO. in table match with braided hose.No. of 10512Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

60° L - e -

C 12611AY

YL SNIZ2060° P HE T BN A B P 4L A 2 S

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED

Fmits BaE BEHOSE BORE R 3 DIMENSIONS
PART NO. THREAD E 2#iA% DN ##S DASH A C s1
1 12611AY-04-04 G1/4"X19 6 04 245 12 19
2 12611AY-06-06 G3/8"X19 10 06 28 | 135 | 22
3 12611AY-08-08 G1/2"X14 13 08 33 16 27
4 12611AY-12-12 G3/4"X14 19 12 37.5|118.5 | 32
5 12611AY-16-12 G1"X11 19 12 4251205 | 41
6 12611AY-16-16 G1"X11 25 16 4351205 | 41
7 12611AY-20-16 | G1.1/4"X11 25 16 4551205 | 50
8 12611AY-20-20 | G1.1/4"X11 32 20 46.5|20.5| 50
9 12611AY-24-24 | G.1/2"X11 38 24 49 23 55
10 12611AY-32-32 G2"X11 50 32 53.5|255 | 70
EL ZRINEHBAARACOEEEY , W\ AihERESREL,
X2 KA EBATRAKE  MBATESRENSHAHL12612AY-XX-XX,
Note:NO. in table match with braided hose.P/N 12612AY-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

13011Y-SP

TEHEE SMR AL
BSPT MALE

Fafts B4 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%K#E DN #R2 DASH A C s1
1 13011Y-04-04SP | R1/4"X19 6 04 27 145 | 14
2 13011Y-06-06SP | R3/8"X19 10 06 27.5| 15 17
3 13011Y-08-08SP | R1/2"X14 13 08 35 20 22
4 13011Y-12-12SP | R3/4"X14 19 12 385 | 20 27
5 13011Y-16-12SP R1"X11 19 12 445 | 25,5 | 36
6 13011Y-16-16SP R1"X11 25 16 45 | 255 | 36
7 13011Y-20-20SP | R1.1/4"X11 32 20 49.5 | 26.5 | 46
8 13011Y-24-24SP | R1.1/2"X11 38 24 52.5|26.5 | 50
9 13011Y-32-32SP R2"X11 50 32 57 30 65
1 RPREATRAKE  MATFESKERSHKH13012Y-XX-XXSP,
Note:NO. in table match with braided hose.P/N 13012Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




YREHEL HOSE FITTING @

JIAYUAN
A
%%m 14211Y
L ‘ D % HIORF AR 40T O B 5 31
ORFS MALE O-RING SEALI1SO12151-1

B2 EEte B E BS=HOSE BORE OB R 3 DIMENSIONS
SN PARTNO.  THREAD E "*‘*"’I;'ﬁ@ JSDASH ORING A C Sl
1 |14211Y-04-04| 9/16"X18 6 04 07.65X1.78 | 225| 9.8 | 17
2 |14211Y-06-06| 11/16"X16 10 06 09.25X1.78 | 24 | 11.2| 19
3 |14211Y-08-08 | 13/16"X16 12 08 012.42X1.78| 285|128 | 22
4 |14211Y-10-10 1'X14 16 10 015.6X1.78 | 34 | 155 | 27
5 [14211Y-12-12|1.3/16"X12 19 12 018.77X1.78| 36.5| 17 | 32
6 |14211Y-16-16|1.7/16"X12 25 16 023.52X1.78| 38.5| 17.5 | 38
7 [14211Y-20-2011.11/16"X12 32 20 029.87X1.78|41.5|17.5| 46
8 |[14211Y-24-24 2"X12 38 24 037.82X1.78{43.5|17.5| 55
T RPESRTRENE | WRTESIRERSSI14212Y-XX-XX,
Note:NO. in table match with braided hose.P/N 14212Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

15611Y

At HE 7 HMIR L

NPT MALE

Fmts B4 E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2A%E DN 7S DASH A C S1
1 15611Y-04-04 Z1/4"X18 6 04 28 15 17
2 15611Y-06-06 Z3/8"X18 10 06 29 16 19
3 15611Y-08-08 Z1/2"X14 13 08 345 | 19 22
4 15611Y-12-12 Z3/4"X14 19 12 385|195 | 27
5 15611Y-16-16 Z1"X11.5 25 16 46.5 | 25,5 | 36
6 15611Y-20-20 | Z1.1/4"X11.5 32 20 50.5|26.5 | 46
7 15611Y-24-24 | Z1.1/2"X11.5 38 24 51 26 50
8 15611Y-32-32 Z2"X11.5 50 32 55 | 27.5| 65
x  RPRASHETRARE  WATERRERSHIIL5612Y-XX-XX,
Note:NO. in table match with braided hose.P/N 15612Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




YREHEL HOSE FITTING @

JIAYUAN

16711Y

j FMHIJIC MRS T4° HMHETH

JIC MALE 74° CONE IS0 12151-5 SAE J514

Fmis 124 E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#iA%#& DN S DASH A C S1
1 16711Y-04-04 7/16"X20 6 04 26.5| 14 12
2 16711Y-05-05 1/2"X20 8 05 26.5| 14 14
3 16711Y-06-06 9/16"X18 10 06 265|141 | 17
4 16711Y-08-08 3/4"X16 13 08 32 | 16.7 | 22
5 16711Y-10-10 7/8"X14 16 10 355193 | 24
6 16711Y-12-12 1.1/16"X12 19 12 40 | 219 | 30
7 16711Y-16-16 1.5/16"X12 25 16 435|231 | 36
8 16711Y-20-20 1.5/8"X12 32 20 475|243 | 46
9 16711Y-24-24 1.7/8"X12 38 24 53 | 27.5| 50
10 16711Y-32-32 2.1/2"X12 50 32 62 |33.9 | 65
ix RPRSATRARE  WATERREANSHAHL6712Y-XX-XX,
Note:NO. in table match with braided hose.P/N 16712Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



<t

JIAYUAN

EREiEsL HOSE FITTING

o 1l AR SCBR T

H )

S2

T
— ST

20111YT

nnon

METRIC FEMALE MULTISEAL

20111Y

Fmits 24 E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2R DN {8 DASH A C S2
1 20111Y-14-04T M14X1.5 6 04 20.5| 45 17
2 20111Y-16-05T M16X1.5 8 05 20 4.5 19
3 20111Y-18-06T M18X1.5 10 06 22.5 4 22
4 20111Y-22-08T M22X1.5 12 08 24.5 5 27
5 20111Y-27-10T M27X1.5 16 10 24 5.5 32
6 20111Y-30-10T M30X1.5 16 10 255 6 36
7 20111Y-30-12T M30X1.5 19 12 28.5 6 36
8 20111Y-36-12T M36X2 19 12 26 7 41
9 20111Y-36-16T M36X2 25 16 28 7 41
10 20111Y-39-16T M39X2 25 16 29.5 7 46
11 20111Y-42-16T M42X2 25 16 30 8.5 50
12 20111Y-45-20T M45X2 32 20 31.5| 8.5 55
13 20111Y-52-20T M52X2 32 20 33 9 60
14 20111Y-52-24T M52X2 38 24 33 9 60
15 20111Y-64-32T M64X2 51 32 35 14 75
T RPRSATRAKE  WATERRERNSH20112Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20112Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

A
/|| }
H S2
CEF 20191v1

F@its
PART NO.

ST
_——AFI

S2

BYE
THREAD E

BZEHOSE BORE

20191Y

90° 7 ffill N R LU ER

90° METRIC FEMALE MULTISEAL

R < DIMENSIONS

2ATRAE DN {55 DASH A H C S2

1 | 20191Y-14-04T | M14X1.5 6 04 27 | 45 | 355 | 17
2 | 20191Y-16-05T | M16X1.5 8 05 32 | 45 | 385 | 19
3 | 20191Y-18-06T | M18X1.5 10 06 345 | 4 41 22
4 | 20191Y-22-08T | M22X1.5 12 08 41 5 49 | 27
5 | 20191Y-27-10T | M27X1.5 16 10 53.5| 5.5 | 535 | 32
6 | 20191Y-30-10T | M30X1.5 16 10 535 6 |555]| 36
7 | 20191Y-30-12T | M30X1.5 19 12 61 6 60 36
8 | 20191Y-36-12T M36X2 19 12 61 7 64 | 41
9 | 20191Y-36-16T M36X2 25 16 75 7 70 | 41
10 | 20191Y-39-16T M39X2 25 16 75 7 72 | 46
11 | 20191Y-42-16T M42X2 25 16 75 | 85 725 | 50
12 | 20191Y-45-20T M45X2 32 20 91 | 85 | 85 55
13 | 20191Y-52-20T M52X2 32 20 91 9 |86.5]| 60
14 | 20191Y-52-24T M52X2 38 24 106 | 9 97 | 60
15 | 20191Y-64-32T M64X2 51 32 132 | 14 | 122 | 75

T RPASHETRANRE | MATERRERSH20192Y-XX-XX,

Note:NO. in table match with braided hose.P/N 20192Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN
C A C A
{ AN { > I FE 4 14 M %
El 1 p E o
: i ; QF ~ GB METRIC FEMALE FLAT SEAT
S2 S2
20211YT 20211YW

Fmiks B a E BEEHOSE BORE R 7 DIMENSIONS

PART NO. THREAD E 2#iP&= DN #5S DASH A C S2

1 |20211Y-14-04T | M14X1.5 6 04 16.5| 85 | 17
2 | 20211Y-16-04T | M16X1.5 6 04 16 | 85 | 19
3 |20211Y-16-05T | M16X1.5 8 05 16.5| 85 | 19
4 |20211Y-18-05T | M18X1.5 8 05 18 9 22
5 | 20211Y-18-06T | M18X1.5 10 06 17 9 22
6 | 20211Y-22-08T | M22X1.5 12 08 19.5| 10 | 27
7 | 20211Y-27-08T | M27X1.5 12 08 18.5| 10 | 32
8 | 20211Y-27-10T | M27X1.5 16 10 20.5| 10 | 32
9 |20211Y-30-10T | M30XL1.5 16 10 20.5| 11 | 36
10 | 20211Y-30-12T | M30X1.5 19 12 225 | 11 | 36
11 | 20211Y-36-12T | M36X2 19 12 20 | 13 | 41
12 | 20211Y-36-16T | M36X2 25 16 24 | 13 | 41
13 | 20211Y-39-16T | M39X2 25 16 235 | 13 | 46
14 | 20211Y-42-16T | M42X2 25 16 235| 15 | 50
15 |20211Y-42-20W | M42X2 32 20 25 | 15 | 50
16 | 20211Y-45-20T | M45X2 32 20 25 | 15 | 55
17 | 20211Y-52-20T | M52X2 32 20 25 | 17 | 60
18 | 20211Y-52-24T | M52X2 40 24 25 | 17 | 60
19 | 20211Y-64-32T | M64X2 50 32 26 | 23 | 75

E RPRASHATRAKE  WATERRKERNSHIH20212Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20212Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

A ‘
W Illm
N J
R
S2
20241YT

AR
n& 4 i

20241YW

45° 5 il N R S0 T 2
45° METRIC FEMALE FLAT SEAT

~Fmits BYE BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2 AE DN S DASH A C H
1 | 20241Y-14-04T | M14X1.5 6 04 354 | 85 | 15.7 | 17
2 | 20241Y-16-04T | M16X1.5 6 04 381 | 85 | 185 | 19
3 | 20241Y-16-05T | M16X1.5 8 05 42 | 85 |19.7 | 19
4 | 20241Y-18-05T | M18X1.5 8 05 406 | 9 |183 | 22
5 | 20241Y-18-06T | M18X1.5 10 06 44 9 201 22
6 | 20241Y-22-08T | M22X1.5 12 08 46.7 | 10 | 19.8 | 27
7 | 20241Y-27-08T | M27X1.5 12 08 485 | 10 | 215 | 32
8 | 20241Y-27-10T | M27X1.5 16 10 59.7 | 10 | 22.8 | 32
9 | 20241Y-30-10T | M30X1.5 16 10 59.7 | 11 | 22.8 | 36
10 | 20241Y-30-12T | M30X1.5 19 12 66.2| 11 | 245 | 36
11 | 20241Y-36-12T M36X2 19 12 66.2 | 13 | 245 | 41
12 | 20241Y-36-16T M36X2 25 16 783 | 13 | 279 | 41
13 | 20241Y-39-16T M39X2 25 16 79.7 | 13 [ 293 | 46
14 | 20241Y-42-16T M42X2 25 16 79.7 1 15 [ 293 | 50
15 120241Y-42-20W | M42X2 32 20 954 | 15 | 352 | 50
16 | 20241Y-45-20T M45X2 32 20 94 | 15 |33.8 | 55
17 | 20241Y-52-20T M52X2 32 20 94 | 17 |33.8 | 60
18 | 20241Y-52-24T M52X2 40 24 106 | 17 | 36.8 | 60
19 | 20241Y-64-32T M64X2 50 32 134 | 23 | 456 | 75
ix  RPNSHETRARE | MATERRKERSKI920242Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20242Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN
A T 111
7 5 } / U5 -
e ”
S2 ‘ S2
1 - 1 ’
- 20291YT 20291YW
E

90° 2 ffil] P 4R S0 1 %
90° METRIC FEMALE FLAT SEAT

~Fmits BYE BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2 AE DN S DASH A C H
1 | 20291Y-14-04T | M14X1.5 6 04 27 | 85 [ 295 | 17
2 | 20291Y-16-04T | M16X1.5 6 04 27 | 85| 32 | 19
3 | 20291Y-16-05T | M16X1.5 8 05 32 | 85 | 375 19
4 | 20291Y-18-05T | M18X1.5 8 05 32 9 |[355] 22
5 |20291Y-18-06T | M18X1.5 10 06 35| 9 |365 | 22
6 | 20291Y-22-08T | M22X1.5 12 08 41 | 10 | 42 | 27
7 | 20291Y-27-08T | M27X1.5 12 08 41 | 10 | 445 | 32
8 | 20291Y-27-10T | M27X1.5 16 10 535| 10 | 49 | 32
9 | 20291Y-30-10T | M30X1.5 16 10 535| 11 | 49 | 36
10 | 20291Y-30-12T | M30X1.5 19 12 61 | 11 54 | 36
11 | 20291Y-36-12T M36X2 19 12 61 | 13 54 | 41
12 | 20291Y-36-16T M36X2 25 16 75 | 13 64 | 41
13 | 20291Y-39-16T M39X2 25 16 75 | 13 66 | 46
14 | 20291Y-42-16T M42X2 25 16 75 | 15 66 | 50
15 120291Y-42-20W | M42X2 32 20 91 | 15 (805 | 50
16 | 20291Y-45-20T M45X2 32 20 91 | 15 | 785 | 55
17 | 20291Y-52-20T M52X2 32 20 91 | 17 | 785 | 60
18 | 20291Y-52-24T M52X2 40 24 106 | 17 | 89 | 60
19 | 20291Y-64-32T M64X2 50 32 132 | 23 | 113 | 75
ix  RPNSHETRARE | MATERKERSKI920292Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20292Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN
24°@ O 24°E
N -

20411YT 20411YW
Ol IR SL24°HE 0 B Bl i R A

METRIC FEMALE 24° CONE O-RING L. T.ISO 12151-2--DIN 3865

Fmits BaE BEHOSE BORE (0):24:2! R < DIMENSIONS

PART NO. THREAD E 22#iA%E DN #5S DASH O-RING A C S2
1 |20411Y-14-04T| M14X1.5 6 04 006.5X1.5| 24 | 1.7 | S17
2 |20411Y-16-04T| M16X1.5 6 04 008.0X1.5| 23 | 2.1 |S19
3 |20411Y-16-05T| M16X1.5 8 05 008.0X1.5| 24 | 2.1 |S19
4 |20411Y-18-04T| M18X1.5 6 04 010.0X1.5|245| 1.5 | S22
5 |20411Y-18-05T| M18X1.5 8 05 010.0X1.5|245| 1.5 | S22
6 |20411Y-18-06T| M18X1.5 10 06 010.0X1.5| 25 1.5 | S22
7 |20411Y-22-06T| M22X1.5 10 06 012.0X2.0|26.5| 3 S27
8 [20411Y-22-08T| M22X1.5 13 08 012.0X2.0| 28 3 S27
9 |20411Y-26-08T| M26X1.5 13 08 015.0X2.0|27.5| 2.1 |S32
10 |20411Y-26-10T| M26X1.5 16 10 015.0X2.0| 29 | 2.1 |S32
11 |20411Y-30-10T| M30X2.0 16 10 020.0X2.0| 31 | 3.8 | S36
12 |120411Y-30-12T| M30X2.0 19 12 020.0X2.0| 33 3.8 | S36
13 |20411Y-36-12T| M36X2.0 19 12 026.0X2.0| 33 | 4.5 |S41
14 |20411Y-36-16T| M36X2.0 25 16 026.0X2.0| 35 | 4.5 | S41
15 |20411Y-45-16T| M45X2.0 25 16 032.0X2.5| 37 4 S50
16 |20411Y-45-20T| M45X2.0 32 20 032.0X2.5|375| 4 S50
17 |20411Y-52-20T| M52X2.0 32 20 038.0X2.5|385| 4 S60
18 |20411Y-52-24T| M52X2.0 38 24 038.0X2.5|385| 4 S60

T RPASATRARE  BTESRKENSH/20412Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20412Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



<t

JIAYUAN

EREiEsL HOSE FITTING

20441YT 20441YW

45° Al N IR L2440 T Bl R R A

45° METRIC FEMALE 24° CONE O-RING L. T.ISO 12151-2--DIN 3865

BREHOSE BORE R < DIMENSIONS

Fmits
PART NO.

18 5 E oORE

O-RING A C H S2

THREAD E 2fiA1E DN {55 DASH

1 [20441Y-14-04T| M14X1.5 6 04 006.5X1.5| 36 | 1.7 | 164 | S17
2 |20441Y-16-04T| M16X1.5 6 04 008.0X1.5|36.3 | 2.1 | 16.6 | S19
3 [20441Y-16-05T| M16X1.5 8 05 008.0X1.5|39.7| 2.1 |17.3 | S19
4 120441Y-18-04T| M18X1.5 6 04 010.0X1.5|37.2| 1.5 | 17.5 | S22
5 [20441Y-18-05T| M18X1.5 8 05 010.0X1.5{413| 1.5 19 | S22
6 [20441Y-18-06T| M18X1.5 10 06 010.0X1.5| 43 | 1.5 19 | S22
7 |20441Y-22-06T| M22X1.5 10 06 012.0X2.0|434| 3 19.4 | S27
8 |20441Y-22-08T| M22X1.5 13 08 012.0X2.0{48.1| 3 |21.2|S27
9 |20441Y-26-08T| M26X1.5 13 08 015.0X2.049.1 | 2.1 | 22.2 |S32
10 (20441Y-26-10T| M26X1.5 16 10 015.0X2.0|61.2 | 2.1 | 249 |S32
11 ({20441Y-30-10T| M30X2.0 16 10 020.0X2.0|62.5| 3.8 | 26.2 | S36
12 (20441Y-30-12T| M30X2.0 19 12 020.0X2.0{69.1 | 3.8 | 27.5 | S36
13 ({20441Y-36-12T| M36X2.0 19 12 026.0X2.0|69.4 | 4.5 | 27.7 | S41
14 (20441Y-36-16T| M36X2.0 25 16 026.0X2.0| 814 | 4.5 31 | S41
15 (20441Y-45-16T| M45X2.0 25 16 032.0X25|83.6| 4 |33.2 S50
16 (20441Y-45-20T| M45X2.0 32 20 032.0X25|96.5| 4 |36.2 |S50
17 (20441Y-52-20T| M52X2.0 32 20 038.0X2.5|97.2| 4 |36.9 |S60
18 (20441Y-52-24T| M52X2.0 38 24 038.0X2.5| 111 4 |41.4 |Se60

T RPN SATRAKE |

AT LR E RSB 20442Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20442Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

S2

20491YT

90°

Fmits
PART NO.

JIAYUAN
A
G N
7 )
H
%
20491YW
-
00° /A I Sr24HE 0 T T 4 % B

12 E

BREHOSE BORE

THREAD E 2fiA1E DN {55 DASH

METRIC FEMALE 24° CONE O-RING L. T. ISO 12151-2--DIN 3865

OB
O-RING A C H

R < DIMENSIONS

S2

1 [20491Y-14-04T| M14X1.5 6 04 006.5X1.5| 27 | 1.7 | 304 | S17
2 |20491Y-16-04T| M16X1.5 6 04 008.0X1.5| 27 | 2.1 |30.7 | S19
3 [20491Y-16-05T| M16X1.5 8 05 008.0X1.5| 32 | 2.1 |34.2 | S19
4 120491Y-18-04T| M18X1.5 6 04 010.0X1.5| 27 | 1.5 32 | S22
5 [20491Y-18-05T| M18X1.5 8 05 010.0X1.5| 32 | 1.5 | 36.5 |S22
6 [20491Y-18-06T| M18X1.5 10 06 010.0X1.5|345| 1.5 37 | S22
7 |20491Y-22-06T| M22X1.5 10 06 012.0X2.0|345| 3 38 | S27
8 |20491Y-22-08T| M22X1.5 13 08 012.0X2.0| 41 3 44 | S27
9 |20491Y-26-08T| M26X1.5 13 08 015.0X2.0| 41 | 2.1 | 454 |S32
10 (20491Y-26-10T| M26X1.5 16 10 015.0X2.0| 53 | 2.1 |53.4 |S32
11 {20491Y-30-10T| M30X2.0 16 10 020.0X2.0| 53 | 3.8 | 53.7 | S36
12 {20491Y-30-12T| M30X2.0 19 12 020.0X2.0| 61 | 3.8 | 58.2 | S36
13 ({20491Y-36-12T| M36X2.0 19 12 026.0X2.0| 61 | 4.5 |58.5 |541
14 (20491Y-36-16T| M36X2.0 25 16 026.0X2.0| 75 | 4.5 | 68.5 | 541
15 (20491Y-45-16T| M45X2.0 25 16 032.0X2.5| 75 4 | 71.5 |S50
16 (20491Y-45-20T| M45X2.0 32 20 032.0X2.5| 91 4 82 | S50
17 ({20491Y-52-20T| M52X2.0 32 20 038.0X2.5| 91 4 83 |S60
18 (20491Y-52-24T| M52X2.0 38 24 038.0X2.5| 106 4 955 |S60

T RPN SATRAKE |

MAFESRERSE/920492Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20492Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




YREHEL HOSE FITTING @

JIAYUAN

T
24°@ T 24°@ O
. §7 =82
20511YT 20511YW
O il N R Sr24 °HE 70 T el E R B

METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2--DIN 3865

~mits IBAE BZEHOSE BORE (0}:5]:3 R < DIMENSIONS

PART NO. THREAD E 2#RMA{E DN 155 DASH O-RING A C S2

1 20511Y-14-04T | M14X1.5 6 04 004.5X1.5| 24 | 1.7 | S17
2 20511Y-16-04T | M16X1.5 6 04 006.5X1.5|24.5| 1.8 | S19
3 | 20511Y-16-05T | M16X1.5 8 05 006.5X1.5| 25 | 1.8 | S19
4 20511Y-18-04T | M18X1.5 6 04 008.0X1.5|25.5| 1.5 | S22
5 20511Y-18-05T | M18X1.5 8 05 008.0X1.5|255| 1.5 | S22
6 20511Y-18-06T | M18X1.5 10 06 008.0X1.5|26.5| 1.5 | S22
7 20511Y-20-05T | M20X1.5 8 05 010.0X1.5|26.5| 2.5 | S24
8 | 20511Y-20-06T | M20X1.5 10 06 010.0X1.5|26.5| 2.5 |S24
9 20511Y-22-06T | M22X1.5 10 06 011.0X2.0|26.5| 3 |S27
10 | 20511Y-22-08T | M22X1.5 13 08 011.0X2.0| 29 3 S27
11 | 20511Y-24-06T | M24X1.5 10 06 013.0X2.0| 27 3 |S30
12 | 20511Y-24-08T | M24X1.5 13 08 013.0X2.0{27.5| 3 |S30
13 | 20511Y-30-08T | M30X2 13 08 016.3X2.4|325| 2.5 | S36
14 | 20511Y-30-10T M30X2 16 10 016.3X24| 33 | 2.5 | S36
15 | 20511Y-30-12T M30X2 19 12 016.3X2.4|345| 2.5 |S36
16 | 20511Y-36-12T M36X2 19 12 020.3X2.4| 35 3 | S46
17 | 20511Y-36-16T M36X2 25 16 020.3X2.4| 37 3 S46
18 | 20511Y-42-16T M42X2 25 16 025.3X2.4|385| 4 |S50
19 | 20511Y-52-20T M52X2 32 20 033.3X24(415| 9 |S60
20 | 20511Y-52-24T M52X2 38 24 033.3X2.4 | 41.5 9 S60
iE  RPASHETRAKE | RTESRRERSKI20512Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20512Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

45° METRIC FEMALE

45° ATl N R L2440 T B E R A

24° CONE O-RING H.T.ISO 12151-2-DIN 3865

Emits B4 E BREHOSE BORE (0): ]3] R < DIMENSIONS
PART NO. THREAD E 22#RA%E DN {55 DASH O-RING A C H S2
1 |20541Y-14-04T| M14X1.5 6 04 004.5X1.5| 36 1.7 |16.4 | S17
2 |20541Y-16-04T| M16X1.5 6 04 006.5X1.5(364 | 1.8 | 16.7 | S19
3 |20541Y-16-05T| M16X1.5 8 05 006.5X1.5|38.1| 1.8 17 | S19
4 |20541Y-18-04T| M18X1.5 6 04 008.0X1.5(374| 1.5 | 17.8 | S22
5 (20541Y-18-05T| M18X1.5 8 05 008.0X1.5(413| 1.5 19 | S22
6 [20541Y-18-06T| M18X1.5 10 06 008.0X1.5(43.4 | 1.5 | 19.4 | S22
7 |20541Y-20-05T| M20X1.5 8 05 010.0X1.5(41.7| 2.5 | 19.3 | S24
8 120541Y-20-06T| M20X1.5 10 06 010.0X1.5(43.7 | 2.5 | 19.8 | S24
9 120541Y-22-06T| M22X1.5 10 06 011.0X2.0 | 43.7 3 19.8 | S27
10 |20541Y-22-08T| M22X1.5 13 08 011.0X2.0| 48.5 3 21.5 | S27
11 |20541Y-24-06T| M24X1.5 10 06 013.0X2.0 | 43.7 3 19.8 | S30
12 |20541Y-24-08T| M24X1.5 13 08 013.0X2.0 | 48.5 3 21.5 | S30
13 (20541Y-30-08T| M30X2 13 08 016.3X2.4 513 | 2.5 | 244 | S36
14 |20541Y-30-10T| M30X2 16 10 016.3X2.4|63.4| 25 | 27.1|S36
15 |20541Y-30-12T| M30X2 19 12 016.3X2.4|68.4| 2.5 | 27.1 | S36
16 |20541Y-36-12T| M36X2 19 12 020.3X2.4|71.3 3 29.7 | S46
17 |20541Y-36-16T| M36X2 25 16 020.3X2.4 | 82.4 3 32 | S46
18 |20541Y-42-16T| M42X2 25 16 025.3X24 (836 | 4 33.2 | S50
19 |20541Y-52-20T| M52X2 32 20 033.3X2.4 | 99.7 9 39.4 | S60
20 |20541Y-52-24T| M52X2 38 24 033.3X2.4 | 112 9 42.5 | S60
T RPNSBTRARE  MATERKERSHI20542Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20542Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN
WA A YT
11
ﬁ j 7 -
;1 o=
H Ksz "
S2

o -E/ 20591YT o 20591 YW

90° il IR Lr24°HE w0 T 18 HE R 5
90° METRIC FEMALE 24° CONE O-RING H.T. IS0 12151-2-DIN 3865

@S B4 E BXEHOSE BORE O8I R < DIMENSIONS

PART NO. THREAD E 2#iA%E DN {55 DASH O-RING A C H S2

1 20591Y-14-04T | M14X1.5 6 04 004.5X1.5| 27 | 1.7 | 30.4 | S17
2 20591Y-16-04T | M16X1.5 6 04 006.5X1.5| 27 | 1.8 31 |S19
3 20591Y-16-05T | M16X1.5 8 05 006.5X1.5| 29 | 1.8 32 | S19
4 20591Y-18-04T | M18X1.5 6 04 008.0X1.5| 28 | 1.5 | 325 | S22
5 20591Y-18-05T | M18X1.5 8 05 008.0X1.5| 32 1.5 | 36.5 | S22
6 20591Y-18-06T | M18X1.5 10 06 008.0X1.5|34.5| 1.5 | 37.5 | S22
7 20591Y-20-05T | M20X1.5 8 05 010.0X1.5| 32 | 25 37 |S24
8 20591Y-20-06T | M20X1.5 10 06 010.0X1.5|345| 25 38 |S24
9 20591Y-22-06T | M22X1.5 10 06 011.0X2.0|1345| 3 38.5 | S27
10 | 20591Y-22-08T | M22X1.5 13 08 011.0X2.0| 41 3 (445 | S27
11 20591Y-24-06T | M24X1.5 10 06 013.0X2.0|1345| 3 38.5 | S30
12 20591Y-24-08T | M24X1.5 13 08 013.0X2.0| 41 3 |44.5 |S30
13 20591Y-30-08T | M30X2 13 08 016.3X2.4| 41 | 2.5 | 485 | S36
14 | 20591Y-30-10T | M30X2 16 10 016.3X2.4| 53 | 25 55 | S36
15 20591Y-30-12T | M30X2 19 12 016.3X24| 58 | 25 55 | S36
16 | 20591Y-36-12T | M36X2 19 12 020.3X24| 61 3 59.8 | S46
17 | 20591Y-36-16T | M36X2 25 16 020.3X24| 75 3 69.8 | S46
18 | 20591Y-42-16T | M42X2 25 16 025.3X24| 75 4 |71.6 | S50
19 | 20591Y-52-20T | M52X2 32 20 033.3X24| 91 9 |86.5|S60
20 | 20591Y-52-24T | M52X2 38 24 033.3X2.4| 106 9 97 | S60
iE  RPHUSATRARE , MATESRENSHI920592Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20592Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN
C_ A _ CA
m ~ i
74° E | L1 :] ,]l a0 B jl
sz S2
20711YT 20711YW

aits
PART NO.

BYE

THREAD E

[ b 2 1] N MR EL7 4°% 4

GB METRIC FEMALE 74° CONE SEAT

BZEHOSE BORE R < DIMENSIONS

2fRAE DN {78 DASH A C S2

1 | 20711Y-14-04T | M14X1.5 6 04 16.5| 85 | 17
2 | 20711Y-16-04T | M16X1.5 6 04 16 8 19
3 | 20711Y-16-05T | M16X1.5 8 05 165| 8 19
4 | 20711Y-18-05T | M18X1.5 8 05 19 8 22
5 | 20711Y-18-06T | M18X1.5 10 06 19 8 22
6 | 20711Y-22-06T | M22X1.5 10 06 19 | 10 | 27
7 20711Y-22-08T | M22X1.5 13 08 195| 10 27
8 20711Y-27-08T | M27X1.5 13 08 185 | 10 32
9 20711Y-27-10T | M27X1.5 16 10 20 10 32
10 | 20711Y-30-10T | M30X1.5 16 10 20 | 11 | 36
11 | 20711Y-30-12T | M30X1.5 19 12 235| 11 | 36
12 | 20711Y-36-12T M36X2 19 12 21 | 13 | 41
13 | 20711Y-36-16T M36X2 25 16 22 13 | 41
14 | 20711Y-39-16T M39X2 25 16 235| 13 | 46
15 | 20711Y-42-16T M42X2 25 16 235| 15 | 50
16 | 20711Y-42-20W | MA42X2 32 20 255| 15 | 50
17 | 20711Y-45-16T M45X2 25 16 235] 15 55
18 | 20711Y-45-20T M45X2 32 20 25 15 55
19 | 20711Y-52-20T M52X2 32 20 25 17 60
20 | 20711Y-52-24T M52X2 38 24 25 17 | 60
21 | 20711Y-64-32T M64X2 51 32 26 | 23 | 75
T RPRSETRERE | MATESERERSKII20712Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20712Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

A
p o ﬁﬁﬁ‘ﬁ‘i‘l
Y
%&o Cr 207MYT

@\o

[/

¢

45° [ by 2 il IR E74°% &

45° GB METRIC FEMALE 74°

20741YW

CONE

FmitsS B E BEHOSE BORE R 7 DIMENSIONS
PART NO. THREAD E 23R DN {75 DASH A C H
1 20741Y-14-04T1 M14X1.5 6 04 353 | 85 | 157 | 17
2 20741Y-16-04T M16X1.5 6 04 382 | 8 18.5 | 19
3 20741Y-16-05T M16X1.5 8 05 424 8 20 19
4 20741Y-18-05T M18X1.5 8 05 427 8 204 | 22
5 20741Y-18-06T M18X1.5 10 06 448 | 8 20.8 | 22
6 20741Y-22-06T M22X1.5 10 06 448 | 10 |20.8 | 27
7 20741Y-22-08T M22X1.5 13 08 47 10 | 20.1 | 27
8 20741Y-27-08T M27X1.5 13 08 48.5| 10 | 215 | 32
9 20741Y-27-10T M27X1.5 16 10 596 | 10 | 228 | 32
10 | 20741Y-30-10T M30X1.5 16 10 596 | 11 | 228 | 36
11 | 20741Y-30-12T M30X1.5 19 12 67.6 | 11 | 259 | 36
12 | 20741Y-36-12T M36X2 19 12 67.6 | 13 | 259 | 41
13 | 20741Y-36-16T M36X2 25 16 79.7 | 13 | 293 | 41
14 | 20741Y-39-16T M39X2 25 16 804 | 13 30 46
15 | 20741Y-42-16T M42X2 25 16 81.8| 15 | 314 | 50
16 [20741Y-42-20W M42X2 32 20 95 15 | 348 | 50
17 | 20741Y-45-16T M45X2 25 16 81.8| 15 | 314 | 55
18 | 20741Y-45-20T M45X2 32 20 947 | 15 |34.5| 55
19 | 20741Y-52-20T M52X2 32 20 947 | 17 |34.5 | 60
20 | 20741Y-52-24T M52X2 38 24 110 | 17 | 404 | 60
21 | 20741Y-64-32T M64X2 51 32 137 | 23 | 483 | 75
ix  RPASHATRAKE  MATERKRERSHH20742Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20742Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

A A
1
e FANIN - AENY]
7 1 . o H B
H f
H
ﬁSZ) D S2
[
E 207917 w 20791YW

74°
74°

90° [ br 2y il W IR 417 4°% ff

90° GB METRIC FEMALE 74°

CONE

ERre 48 5 E BXE=HOSE BORE R <+ DIMENSIONS
PART NO. THREAD E 2#iA{& DN {75 DASH A C H
1 20791Y-14-04T1 M14X1.5 6 04 27 85 (294 | 17
2 20791Y-16-04T M16X1.5 6 04 27 8 334 | 19
3 20791Y-16-05T M16X1.5 8 05 32 8 38 19
4 20791Y-18-05T M18X1.5 8 05 32 8 385 | 22
5 20791Y-18-06T M18X1.5 10 06 345 8 40 22
6 20791Y-22-06T M22X1.5 10 06 345 | 10 40 27
7 20791Y-22-08T M22X1.5 13 08 41 10 | 425 | 27
8 20791Y-27-08T M27X1.5 13 08 41 10 | 445 | 32
9 20791Y-27-10T M27X1.5 16 10 53.5| 10 49 32
10 | 20791Y-30-10T M30X1.5 16 10 535| 11 49 36
11 | 20791Y-30-12T M30X1.5 19 12 61 11 56 36
12 | 20791Y-36-12T M36X2 19 12 61 13 56 41
13 | 20791Y-36-16T M36X2 25 16 75 13 66 41
14 | 20791Y-39-16T M39X2 25 16 75 13 67 46
15 | 20791Y-42-16T M42X2 25 16 75 15 69 50
16 [20791Y-42-20W M42X2 32 20 91 15 80 50
17 | 20791Y-45-16T M45X2 25 16 75 15 69 55
18 | 20791Y-45-20T M45X2 32 20 91 15 | 79.5| 55
19 | 20791Y-52-20T M52X2 32 20 91 17 | 79.5| 60
20 | 20791Y-52-24T M52X2 38 24 106 | 17 94 60
21 | 20791Y-64-32T M64X2 51 32 132 | 23 | 117 | 75
ix  RPASHATRARE  MRATERRERSHI20792Y-XX-XX,
Note:NO. in table match with braided hose.P/N 20792Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN
A A
60°CE‘ - ] 0l ] w0
BN . BSP FEMALE 60° CONE
2
22611Y 22611YW

~Fafts B4 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%/ DN {FS DASH A C s1
1 22611Y-04-04 G1/4" X19 6 04 18 5.5 | S19
2 22611Y-06-04 G3/8" X19 6 04 19 6.3 | S22
3 22611Y-06-06 G3/8" X19 10 06 19.5| 6.3 | S22
4 22611Y-08-06 G1/2" X14 10 06 21 7.5 | S27
5 22611Y-08-08 G1/2" X14 13 08 215 | 7.5 | S27
6 22611Y-12-10 G3/4" X14 16 10 235|109 | S32
7 22611Y-12-12 G3/4" X14 19 12 24 |110.9 | S32
8 22611Y-16-16 G1" X11 25 16 27 | 11.7 | S41
9 22611Y-20-20W |G1.1/4" X11 32 20 30.5| 11 | S50
10 | 22611Y-24-24W |G1.1/2" x11 38 24 33 13 | S55
11 | 22611Y-32-32W G2" X11 51 32 33 le | S70
T RPREATFRAKE  MATFESRERSHH22612Y-XX-XX,
Note:NO. in table match with braided hose.P/N 22612Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

A
Y
H
C
&
%

22641Y

H

¢
o

D.

22641YW

45°  FLE AIRL60° HhHETH
45° BSP FEMALE 60° CONE

~mis B4 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%3PJ12 DN 75 DASH A C H S2
1 22641Y-04-04 | G1/4" X19 6 04 36 | 5.5 [ 164 | S19
2 22641Y-06-04 | G3/8" X19 6 04 37 | 6.3 | 173 | S22
3 22641Y-06-06 | G3/8" X19 10 06 428 | 6.3 | 18.8 | S22
4 22641Y-08-06 | G1/2" X14 10 06 448 | 7.5 | 20.8 | S27
5 22641Y-08-08 | G1/2" X14 13 08 488 | 7.5 | 21.9 | S27
6 22641Y-12-10 | G3/4" X14 16 10 6241109 | 26.1 | S32
7 22641Y-12-12 | G3/4" X14 19 12 69.1 109 | 274 | S32
8 22641Y-16-16 G1" X11 25 16 82.7|11.7 | 323 | S41
9 |22641Y-20-20W [G1.1/4" X11 32 20 98.2| 11 38 | S50
10 |22641Y-24-24W |G1.1/2" x11 38 24 115 | 13 |44.6 | S55
11 |22641Y-32-32W| G2" X11 51 32 141 | 16 |52.7 | S70
T RPRSAETRARE | MATESRRENSHI922642Y-XX-XX,
Note:NO. in table match with braided hose.P/N 22642Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

S N IRE60° S HETH
90° BSP FEMALE 60° CONE

JIAYUAN
" ] i 00000
A
Y
ol (D 22691Y 6 22691YW
£ £
60° 60°

FmitsS B8 E BZEHOSE BORE R <> DIMENSIONS
PART NO. THREAD E 2#3A1Z DN {55 DASH A C H
1 22691Y-04-04 | G1/4" X19 6 04 27 5.5 | 30.5 | S19
2 22691Y-06-04 | G3/8" X19 6 04 27 6.3 | 31.7 | S22
3 22691Y-06-06 | G3/8" X19 10 06 345 | 6.3 | 37.2|S22
4 22691Y-08-06 | G1/2" X14 10 06 345 | 7.5 40 | S27
5 22691Y-08-08 | G1/2" X14 13 08 41 7.5 46 | S27
6 22691Y-12-10 | G3/4" X14 16 10 53 |10.9 | 53.6 | S32
7 22691Y-12-12 | G3/4" X14 19 12 61 |10.9 | 58.1 | S32
8 22691Y-16-16 G1" X11 25 16 75 [11.7]70.3 | S41
9 |22691Y-20-20W (G1.1/4" X11 32 20 91 11 | 84.5 | S50
10 [22691Y-24-24W |G1.1/2" x11 38 24 106 | 13 | 100 | S55
11 [22691Y-32-32W | G2" X11 51 32 132 | 16 | 123 | S70
ix  RPASHATRANRE  MATERRERSHH22692Y-XX-XX,
Note:NO. in table match with braided hose.P/N 22692Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




YREHEL HOSE FITTING @

JIAYUAN
C A C A
AT | VT
60°CE( rE 0 | 60°CE l ] L PN IE 2060 ° A1 HE TH XU 7S F
) S1 S2 S1
BSP FEMALE 60° CONE DOUBLE HEXAGON
22611DY-SM 22611DY-SMW

Emits BN E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#RAE DN {58 DASH A C S1 S2
1 22611DY-04-04SM | G1/4" X19 6 04 23.5| 55 | S14 | S19
2 22611DY-06-06SM | G3/8" X19 10 06 26 | 6.3 | S17 | S22
3 22611DY-08-06SM | G1/2" X14 10 06 30.5( 7.5 | S19 | S27
4 22611DY-08-08SM | G1/2" X14 13 08 31 | 7.5 | S19 | S27
5 22611DY-12-12SM | G3/4" X14 19 12 33.5|109 | S27 | S32
6 22611DY-16-16SM G1" X11 25 16 36 | 11.7 | S32 | S41
7 |22611DY-20-20SMW |G1.1/4" X11 32 20 44 11 | S41 | S50
8 |22611DY-24-24SMW |G1.1/2" x11 38 24 45 13 | S46 | S55
9 |22611DY-32-32SMW | G2" X11 51 32 45 16 | S60 | S70
T FPSATRARE | ATEFRENSEII22612DY-XX-XXSM,
Note:NO. in table match with braided hose.P/N 22612DY-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN
C A C A C A
‘ ﬁm} - =g (AL rﬁ%
| BE P Clgn
S 82 R
24211YT 24211Y 24211YW

FHIORFS WA L1 H

ORFS FEMALE FLAT SEAT ISO 12151-1--SAE J1453

Fmfls
PART NO.

B E
THREAD E

AMAE DN 175 DASH

BREHOSE BORE

R < DIMENSIONS

A

C

S2

1 24211Y-04-04 9/16"X18 6 04 22.5| 85 | S19
2 24211Y-06-04T | 11/16"X16 6 04 23.5| 10 | S22
3 24211Y-06-06 |11/16"X16 10 06 25.5| 10 | S22
4 24211Y-08-06T | 13/16"X16 10 06 25 11 | S27
5 24211Y-08-08 | 13/16"X16 13 08 28 11 | S27
6 24211Y-10-08 1"X14 13 08 32.5|13.5|S30
7 24211Y-10-10 1"X14 16 10 33.5]13.5|S30
8 24211Y-12-08T [1.3/16"X12 13 08 30.5| 15 |S36
9 24211Y-12-10T |[1.3/16"X12 16 10 32 15 | S36
10 24211Y-12-12T |1.3/16"X12 19 12 33 15 | S36
11 24211Y-16-12T |1.7/16"X12 19 12 35 1148 | S41
12 24211Y-16-16T [1.7/16"X12 25 16 345 |14.8 | S41
13 | 24211Y-20-20W |1.11/16"X1 32 20 425 | 15 | S50
14 24211Y-24-24T 2"%12 38 24 36 | 14.8 | S60

x  RPASHBETRARE AT ERRERSHII24212Y-XX-XX,

Note:NO. in table match with braided hose.P/N 24212Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

N

7

SN
”l'l'llllllll":ll!.l..I..!..I..!..I._, Y

HIC W/

24241YT 32, 1241y

45°

FHIORFS P 2 40~ 1H]

24241YW

45° ORFS FEMALE FLAT SEAT IS0 12151-1--SAE J1453

Fmits 12 4 E BEEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 22#3A#& DN S DASH A C H S2
1 24241Y-04-04 9/16"X18 6 04 30.7 | 85 | 11.1 | S19
2 24241Y-06-04T | 11/16"X16 6 04 358 | 10 |16.1 | S22
3 24241Y-06-06 | 11/16"X16 10 06 37.7 | 10 | 13.8 | S22
4 24241Y-08-06T | 13/16"X16 10 06 441 | 11 | 20.1 | S27
5 24241Y-08-08 | 13/16"X16 13 08 443 | 11 |[17.5 |S27
6 24241Y-10-08 1"X14 13 08 48.5 | 13.5|21.5 | S30
7 24241Y-10-10 1"'X14 16 10 56.5|13.5(19.7 | S30
8 24241Y-12-08T | 1.3/16"X12 13 08 492 | 15 |22.2 |S36
9 24241Y-12-10T | 1.3/16"X12 16 10 59.1| 15 | 22.8 |S36
10 | 24241Y-12-12T | 1.3/16"X12 19 12 66.2 | 15 | 24.5 | S36
11 | 24241Y-16-12T | 1.7/16"X12 g 12 68.3|14.8 | 26.6 | S41
12 | 24241Y-16-16T | 1.7/16"X12 25 16 79 |14.8 | 28.6 | S41
13 | 24241Y-20-20W [1.11/16"X12 32 20 98.6 | 15 | 38.4 | S50
14 | 24241Y-24-24T 2"X12 38 24 106 [ 14.8 | 36.8 | S60
T RPN SHETRAKE  WATERRERSK24242Y-XX-XX,
Note:NO. in table match with braided hose.P/N 24242Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




<t

EREiEsL HOSE FITTING

JIAYUAN
A A
! =
H
; S2 H 82
“ : 24291YT o - : 24291YW

90° ZEHIORFS A4 FH

90° ORFS FEMALE FLAT SEAT ISO 12151-1--SAE J1453

EFms BaE BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#3A#&E DN S DASH A C H S2
1 24291Y-04-04 9/16"X18 6 04 27 | 85 [ 244 |S19
2 24291Y-06-04T | 11/16"X16 6 04 27 10 30 | S22
3 24291Y-06-06 | 11/16"X16 10 06 345 | 10 30 | S22
4 | 24291Y-08-06T | 13/16"X16 10 06 345 | 11 39 |[S27
5 24291Y-08-08 13/16"X16 13 08 40.7 | 11 | 38.7 | S27
6 24291Y-10-08 1"X14 13 08 41 |(13.5]|44.5 |S30
7 24291Y-10-10 1"X14 16 10 53.5113.5(44.5 | S30
8 24291Y-12-08T | 1.3/16"X12 13 08 41 15 | 455 | S36
9 24291Y-12-10T | 1.3/16"X12 16 10 53 15 49 | S36
10 | 24291Y-12-12T | 1.3/16"X12 19 12 61 15 54 | S36
11 | 24291Y-16-12T | 1.7/16"X12 19 12 61 | 148 | 57 |S41
12 | 24291Y-16-16T | 1.7/16"X12 25 16 75 | 148 | 65 |S41
13 |24291Y-20-20W [1.11/16"X12 32 20 91 15 85 | S50
14 | 24291Y-24-24T 2"X12 38 24 106 [ 14.8 | 89 | S60
T RPRSAETRAKE  WATERRERSKH24292Y-XX-XX,
Note:NO. in table match with braided hose.P/N 24292Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




YREHEL HOSE FITTING @

JIAYUAN
C_A C_A
- 000 S HIORFS Py BR 0T 1 575 f
] 082 S1 ] ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
24211DY-SM 24211DY-SMW

Fmfts B4 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2 A& DN 155 DASH A C S1 S2
1 24211DY-04-04SM 9/16"X18 6 04 285 | 85 | S14 | S19
2 24211DY-06-06SM | 11/16"X16 10 06 31.5| 10 | S17 | S22
3 24211DY-08-08SM | 13/16"X16 13 08 37.5| 11 | S19 |S27
4 24211DY-10-10SM 1"X14 16 10 44 | 13.5| S24 | S30
5 24211DY-12-12SM | 1.3/16"X12 19 12 445 | 15 | S30 | S36
6 24211DY-16-16SM | 1.7/16"X12 25 16 50 |14.8 | S36 | S41
7 |24211DY-20-20SMW |1.11/16"X12 32 20 545 | 15 | S41 | S50
8 |24211DY-24-24SMW 2"X12 38 24 56 |14.8 | S50 | S60
T RPASHATRARE  MATERRENRSHI24212DY-XX-XXSM,
Note:NO. in table match with braided hose.P/N 24212DY-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN
C_A C A
111N | 0000
| :[]l 74° E |1 SR 74 By Jl
S < §2
26711Y 26711YT 26711YW

KEIJIC WIRGT4° NAHET

JIC FEMALE 74° CONE SEAT SAE J514

Fmis B4 E BREHOSE BORE R < DIMENSIONS

PART NO. THREAD E 2R DN {8 DASH A C S1
1 26711Y-04-04 7/16"X20 6 04 15 9 S15
2 26711Y-04-05 7/16"X20 8 05 15 9 S15
3 26711Y-06-06 9/16"X18 10 06 15.5|10.5 | S19
4 26711Y-08-06 3/4"X16 10 06 175 11 |S24
5 26711Y-08-08 3/4"X16 13 08 185 | 11 |S24
6 26711Y-08-10 3/4"X16 16 10 19 11 | S24
7 26711Y-10-08 7/8"X14 13 08 19 13 | S27
8 26711Y-10-10 7/8"X14 16 10 195 | 13 | S27
9 26711Y-12-10 1.1/16"X12 16 10 21 15 | S32
10 26711Y-12-12 1.1/16"X12 19 12 215 | 15 |S32
11 26711Y-16-12 1.5/16"X12 19 12 215 | 16 | S41
12 26711Y-16-16 1.5/16"X12 25 16 225 | 16 | S41
13 | 26711Y-20-20W | 1.5/8"X12 32 20 26.5| 17 | S50
14 | 26711Y-24-24W | 1.7/8"X12 38 24 30.5| 20 | S55
15 26711Y-32-24T | 2.1/2"X12 38 24 27 | 235 | S75
16 | 26711Y-32-32T | 2.1/2"X12 51 32 27 | 235 | S75

T RPRSHTRAKE A TERRERNSHF26712Y-XX-XX,
Note:NO. in table match with braided hose.P/N 26712Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN

IR RR R B
” ”’,"l'l'llllllllhi;.'.L!...I...!..I...I._ y

H v Cous ¢

S2

Q& e RN

& 26741Y % 26741YT T 26741YW

45° ZEHIJIC WERLT4° NHE

45° JIC FEMALE 74° CONE SEAT SAE J514

mits B4 E BEEHOSE BORE R < DIMENSIONS

PART NO. THREAD E 22#fA#& DN S DASH A H S2
1 26741Y-04-04 7/16"X20 6 04 33.9 9 14.3 | S15
2 26741Y-04-05 7/16"X20 8 05 34.9 9 143 | S15
3 26741Y-06-06 9/16"X18 10 06 40.2 {105 | 16.2 | S19
4 26741Y-08-06 3/4"X16 10 06 416 | 11 [17.6 | S24
5 26741Y-08-08 3/4"X16 13 08 46.3 | 11 [ 194 | S24
6 26741Y-08-10 3/4"X16 16 10 51 11 | 20.1 | S24
7 26741Y-10-08 7/8"X14 13 08 474 | 13 | 20.5|S27
8 26741Y-10-10 7/8"X14 16 10 59.5| 13 | 23.2 |S27
9 26741Y-12-10 | 1.1/16"X12 16 10 60.2 | 15 | 239 [S32
10 26741Y-12-12 | 1.1/16"X12 1) 12 66.9 | 15 | 25.2 | S32
11 26741Y-16-12 | 1.5/16"X12 19 12 67.6 | 16 | 259 | S41
12 26741Y-16-16 | 1.5/16"X12 25 16 79.3| 16 | 289 | S41
13 |26741Y-20-20W | 1.5/8"X12 32 20 954 | 17 | 35.2 | S50
14 |26741Y-24-24W | 1.7/8"X12 38 24 112 | 20 |[42.8 | S55
15 |26741Y-32-24W | 2.1/2"X12 38 24 113 | 23.5(43.6 | S75
16 |26741Y-32-32W | 2.1/2"X12 51 32 140 | 23,5 51.6 | S75

T RPASHETRARE  WBTERRENRNSHII26742Y-XX-XX,
Note:NO. in table match with braided hose.P/N 26742Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN
A A
A m T
/W - (L /% - s IR J
71 ! 7T ) v :
’ H
H H S2 S2
S2

- = 26791Y - 26791YT et 26791YW

74°

74°

74°

90° EHIJIC WEAZ74° NHET

90° JIC FEMALE 74° CONE SEAT SAE J514

Fmits B4 E BEEHOSE BORE R < DIMENSIONS

PART NO. THREAD E 2#iA#& DN #{fsS DASH A H S2
1 26791Y-04-04 7/16"X20 6 04 27 9 27.4 | S15
2 26791Y-04-05 7/16"X20 8 05 28 9 27.4 | S15
3 26791Y-06-06 9/16"X18 10 06 34.5|10.5|33.5 | S19
4 26791Y-08-06 3/4"X16 10 06 345 | 11 | 355 |S24
5 26791Y-08-08 3/4"X16 13 08 41 11 [ 425 | S24
6 26791Y-08-10 3/4"X16 16 10 45 11 [ 425 | S24
7 26791Y-10-08 7/8"X14 13 08 41 13 | 43.5 | S27
8 26791Y-10-10 7/8"X14 16 10 53 13 | 495 | S27
9 26791Y-12-10 | 1.1/16"X12 16 10 53 15 | 50.5 | S32
10 26791Y-12-12 | 1.1/16"X12 g 12 61 15 55 | S32
11 26791Y-16-12 | 1.5/16"X12 19 12 61 16 56 | S41
12 26791Y-16-16 | 1.5/16"X12 25 16 75 16 | 65.5 | S41
13 |26791Y-20-20W | 1.5/8"X12 32 20 91 17 | 80.5 | S50
14 |26791Y-24-24W | 1.7/8"X12 38 24 106 | 20 [ 97.5 | S55
15 |26791Y-32-24W | 2.1/2"X12 38 24 106 | 23.5(98.5 | S75
16 |26791Y-32-32W | 2.1/2"X12 51 32 132 | 23,5 122 | S75

ix RPN SHETRAKE  WATERRERSKIH26792Y-XX-XX,
Note:NO. in table match with braided hose.P/N 26792Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

74° |E

C_A

0000

ey

26711DY-SMW
EHITIC NIBGLT4° P HET XS F

IC FEMALE 74° CONE SEAT DOUBLE HEXAGON

Fmfts BaE BREHOSE BORE R DIMENSIONS

PART NO. THREAD E 2R A& DN 155 DASH A C S1 S2
1 26711DY-04-04SM | 7/16"X20 6 04 20 9 S12 | S15
2 26711DY-04-05SM | 7/16"X20 8 05 20 9 S14 | S15
3 26711DY-06-06SM | 9/16"X18 10 06 21 | 10.5 | S17 | S19
4 26711DY-06-08SM | 9/16"X18 13 08 21.5|10.5 | S19 | S19
5 26711DY-08-06SM 3/4"X16 10 06 25 11 | S19 | S24
6 26711DY-08-08SM 3/4"X16 13 08 245 | 11 | S19 | S24
7 26711DY-08-10SM 3/4"X16 16 10 255 11 | S22 | S24
8 26711DY-10-08SM 7/8"X14 13 08 25 13 | S22 | S27
9 26711DY-10-10SM 7/8"X14 16 10 27 13 | S22 | S27
10 | 26711DY-12-10SM | 1.1/16"X12 16 10 32 15 | S27 | S32
11 | 26711DY-12-12SM | 1.1/16"X12 19 12 32 15 | S27 | S32
12 | 26711DY-16-12SM | 1.5/16"X12 19 12 33.5| 16 | S32 | S41
13 | 26711DY-16-16SM | 1.5/16"X12 25 16 345 | 16 | S32 | S41
14 |26711DY-20-20SMW | 1.5/8"X12 32 20 38 17 | S41 | S50
15 |26711DY-24-20SMW | 1.7/8"X12 32 20 415| 20 | S46 | S55
16 |26711DY-24-24SMW | 1.7/8"X12 38 24 415| 20 | S46 | S55
17 |26711DY-32-24SMW | 2.1/2"X12 38 24 44 | 23.5 | S65 | S75
18 |26711DY-32-32SMW| 2.1/2"X12 51 32 44 | 23.5 | S65 | S75

T RPESRTREARE | IRTEFERENSHII26712DY-XX-XXSM,
Note:NO. in table match with braided hose.P/N 26712DY-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN

C_A C_A
AT Nz H 2 2% il A R £060° A #E T
60° E{ 60 Elrn
— - .
— ° JIS METRIC FEMALE 60° CONE SEAT
| S2 S1 s2 _$1
28611Y 28611YW
~mits e E BEEHOSE BORE R 7 DIMENSIONS
PART NO. THREAD E 2#fB& DN {55 DASH A C S1
1 28611Y-14-04 M14X1.5 6 04 21 | 105 | 19 19
2 28611Y-16-05 M16X1.5 8 05 24 10 22 22
3 28611Y-16-06 M16X1.5 10 06 24 10 22 22
4 28611Y-18-06 M18X1.5 10 06 24 | 115 | 24 24
5 28611Y-20-08 M20X1.5 12 08 285 | 12 27 27
6 28611Y-22-08 M22X1.5 12 08 285 | 14 27 27
7 28611Y-24-08 M24X1.5 12 08 28.5| 15 32 32
8 28611Y-24-10 M24X1.5 16 10 29 15 32 32
9 28611Y-30-12 M30X1.5 20 12 28.5|18.3 | 36 36
10 28611Y-33-12 M33X1.5 20 12 31 | 213 | 41 41
11 28611Y-36-16 M36X1.5 25 16 345 | 20 46 46
12 28611Y-42-20W M42X1.5 32 20 40 | 18.8 | 55 55
T RPRSHATRARE  MATERRERSKI28612Y-XX-XX,
Note:NO. in table match with braided hose.P/N 28612Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN
C A C_A
QO DO s i o 2 060° 1 4
60° Ei- ' J 60° E | ! I
% S1 ;2 S1 JIS GAS FEMALE 60° CONE SEAT
29611Y 29611YW

Fmfts BAE BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#RA{&E DN {55 DASH A S1 S2
1 29611Y-04-04 G1/4"X19 6 04 21 8 S19 | S19
2 29611Y-06-05 G3/8"X19 8 05 23 9 S22 | S22
3 29611Y-06-06 G3/8"X19 10 06 23 9 S22 | S22
4 29611Y-08-08 G1/2"X14 13 08 26.5| 12 | S27 | S27
5 29611Y-10-10 G5/8"X14 16 10 30.5| 11.5 | S30 | S30
6 29611Y-12-12 G3/4"X14 19 12 30.5| 13.5| S32 | S32
7 29611Y-16-16 G1"X11 25 16 34 16 | S41 | S41
8 29611Y-20-20W G1.1/4"X11 32 20 43 | 18.5 | S50 | S50
9 29611Y-24-24W G1l.1/2"X11 38 24 435 | 19 | S55 | S55
10 29611Y-32-32W G2"X11 51 32 46.5| 23 | S70 | S70
T RPRSATRARE  IATESRKERSHN29612Y-XX-XX,
Note:NO. in table match with braided hose.P/N 29612Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN

LI 11 8731y
A N
D § ‘ J[ SAE %= 3000 PSI

L SAE FLANGE 3000 PSI

FsS FmisS E=BS EEHOSE BORE R <7 DIMENSIONS
N\ PART NO. FLANGE NO. 2#RM{E DN 55 DASH A D L
1 87311Y-08-08 1/2" 13 08 46 | 30.2 | 6.73
2 87311Y-08-10 1/2" 16 10 47.5|30.2 | 6.73
3 | 87311Y-12-08 3/4" 13 08 47 |38.1 |6.73
4 | 87311Y-12-10 3/4" 16 10 48 | 38.1 |6.73
5 87311Y-12-12 3/4" 19 12 48 | 38.1 |6.73
6 | 87311Y-12-16 3/4" 25 16 49 | 381 |6.73
7 | 87311Y-16-12 1" 19 12 51 (444 | 8
8 | 87311Y-16-16 1" 25 16 52 (444 | 8
9 | 87311Y-16-20 1" 32 20 53 444 | 8
10 | 87311Y-20-12 1.1/4" 19 12 56 | 508 | 8
11 | 87311Y-20-16 1.1/4" 25 16 57 | 508 | 8
12 | 87311Y-20-20 1.1/4" 32 20 58 | 508 | 8
13 | 87311Y-20-24 1.1/4" 38 24 61 [50.8| 8
14 | 87311Y-24-20 1.1/2" 32 20 68 [ 603 | 8
15 | 87311Y-24-24 1.1/2" 38 24 68 [ 603 | 8
16 | 87311Y-32-24 2" 38 24 70 | 71.4 |9.53
17 | 87311Y-32-32 2" 51 32 70 | 71.4 19.53
18 | 87311Y-40-32 2.1/2" 51 32 73 | 84.1 |9.53
ix  RPRNSHETRANRE | ATESRERSKII87312Y-XX-XX,
Note:NO. in table match with braided hose.P/N 87312Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN
A
I 87341Y

H W E ‘ 45° SAE i * 3000 PS

D 45° SAE FLANGE 3000 PSI

L
EFmitsS E=ES BEEHOSE BORE R = DIMENSIONS
PART NO. FLANGE NO. iR DN 55 DASH A H D

1 | 87341Y-08-08 1/2" 13 08 499 (2291302 |6.73
2 | 87341Y-12-08 3/4" 13 08 499 (229381 |6.73
3 | 87341Y-12-10 3/4" 16 10 61.1 |24.3 |38.1(6.73
4 | 87341Y-12-12 3/4" 19 12 67.6 | 25.9 | 38.1 | 6.73
5 | 87341Y-16-12 1" 19 12 67.6 | 259|444 | 8
6 | 87341Y-16-16 1" 25 16 79.7 [ 29.4 | 444 | 8
7 | 87341Y-16-20 1" 32 20 94 338|444 | 8
8 | 87341Y-20-16 1.1/4" 25 16 79.7 293508 | 8
9 | 87341Y-20-20 1.1/4" 32 20 94 [33.8(508 | 8
10 | 87341Y-24-20 1.1/2" 32 20 95.4 1352603 | 8
11 | 87341Y-24-24 1.1/2" 38 24 107 | 383|603 | 8
12 | 87341Y-32-24 2" 38 24 107 | 38.3 | 71.4 |9.53
13 | 87341Y-32-32 2" 51 32 135 | 46.3 | 71.4 | 9.53
14 | 87341Y-40-32 2.1/2" 51 32 131 | 47.8 | 84.1 |9.53
T ZPRERTRANE  MAFEEKERSKA7342Y-XX-XX,
Note:NO. in table match with braided hose.P/N 87342Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



YREHEL HOSE FITTING @

JIAYUAN

87391Y

90° SAE %™ 3000 PSI

H
90° SAE FLANGE 3000 PSI
L
D
Fmits EEBS BREHOSE BORE R > DIMENSIONS
PART NO. FLANGE NO. 2fA7E DN #5S5 DASH A H D
1 87391Y-08-08 1/2" 13 08 41 |46.5|30.2 |6.73
2 87391Y-08-10 1/2" 16 10 53.5| 50 |30.2 [{6.73
3 87391Y-12-08 3/4" 13 08 41 |46.5|38.1 |6.73
4 87391Y-12-10 3/4" 16 10 53.5| 51 |38.1 (|6.73
5 87391Y-12-12 3/4" 19 12 61 56 |38.1|6.73
6 87391Y-16-12 1" 19 12 61 56 | 444 8
7 87391Y-16-16 1" 25 16 75 66 | 44.4 8
8 87391Y-16-20 1" 32 20 91 |78.5|444 8
9 87391Y-20-12 1.1/4" 19 12 61 56 |50.8 8
10 87391Y-20-16 1.1/4" 25 16 75 66 | 50.8 8
11 87391Y-20-20 1.1/4" 32 20 91 |78.5|50.8 8
12 87391Y-20-24 1.1/4" 38 24 97.5178.5|50.8 8
13 87391Y-24-20 1.1/2" 32 20 91 |80.5]|60.3 8
14 87391Y-24-24 1.1/2" 38 24 106 | 91 | 60.3 8
15 87391Y-32-24 2" 38 24 106 | 91 | 71.4 |9.53
16 87391Y-32-32 2" 51 32 132 | 114 | 714 |9.53
17 87391Y-40-32 2.1/2" 51 32 132 | 116 | 84.1 | 9.53
ix RPASATRARE  MATERRERSKH87392Y-XX-XX,
Note:NO. in table match with braided hose.P/N 87392Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

Fmis
PART NO.

I 87611V

SAE %> 6000 PSI

SAE FLANGE 6000 PSI

EERS BREHOSE BORE

FLANGE NO. 2% DN {55 DASH

R < DIMENSIONS

.

D

L

1 87611Y-08-08 1/2" 13 08 47 | 31.7 |7.75
2 87611Y-08-10 1/2" 16 10 48 | 31.7 |7.75
3 87611Y-12-08 3/4" 13 08 50 | 41.3 |8.76
4 87611Y-12-10 3/4" 16 10 51 | 41.3 |8.76
5 87611Y-12-12 3/4" 19 12 51 |41.3 |8.76
6 87611Y-12-16 3/4" 25 16 52 | 41.3 |8.76
7 87611Y-16-12 1" 19 12 56 | 47.6 |9.53
8 87611Y-16-16 1" 25 16 57 | 47.6 |9.53
9 87611Y-16-20 1" 32 20 61 |[47.6 |9.53
11 | 87611Y-20-16 1.1/4" 25 16 65 54 110.3
12 | 87611Y-20-20 1.1/4" 32 20 66 54 |10.3
13 | 87611Y-24-20 1.1/2" 32 20 75 |1 635|126
14 | 87611Y-24-24 1.1/2" 38 24 75 | 635|126
15 | 87611Y-32-24 2" 38 24 85 (794 |12.6
16 | 87611Y-32-32 2" 51 32 85 (794 |12.6

T RPRSATRARE  WATERRENSHII87612Y-XX-XX,

Note:NO. in table match with braided hose.P/N 87612Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

Fmits

PART NO.

E=8s
FLANGE NO.

BEEHOSE BORE

KXFRAE DN #5S DASH

JIAYUAN
A |
Wmm,\ 87641Y
=4
H W 45° SAE % 6000 PSI
45° SAE FLANGE 6000 PSI

R < DIMENSIONS

A

H

D

1 87641Y-08-08 1/2" 13 08 499 (229 |31.7 |7.75
2 87641Y-12-10 3/4" 16 10 63.9|27.1|41.3 |8.76
3 87641Y-12-12 3/4" 19 12 70.4|128.8|41.3 [8.76
4 87641Y-16-12 1" 19 12 72.51309|47.6 [9.53
5 87641Y-16-16 1" 25 16 84.6 |34.2|47.6 [9.53
6 87641Y-20-16 1.1/4" 25 16 87.4137.1| 54 |(10.3
7 87641Y-20-20 1.1/4" 32 20 102 {415 | 54 |10.3
8 87641Y-24-20 1.1/2" 32 20 105 |45.1(63.5 |12.6
9 87641Y-24-24 1.1/2" 38 24 117 | 48.2 | 63.5 [12.6
10 87641Y-32-32 2" 51 32 145 | 619 (794 |12.6

ix RPREBATRARE  WATERRENRSHII87642Y-XX-XX,

Note:NO. in table match with braided hose.P/N 87642Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com




EREiEsL HOSE FITTING

<t

JIAYUAN
A
O AR 87691Y
7§ P
,// 90° SAE = 6000 PSI
H 90° SAE FLANGE 6000 PSI
L
D
Fmts E=RS BEEHOSE BORE R > DIMENSIONS
PART NO. FLANGE NO. 2fiA7E DN #5S5 DASH A H D
1 87691Y-08-08 1/2" 13 08 41 |46.5|31.7 |7.75
2 87691Y-08-10 1/2" 16 10 53,5 51 |31.7 |7.75
3 87691Y-12-08 3/4" 13 08 41 |50.5|41.3 |8.76
4 87691Y-12-10 3/4" 16 10 53.5| 55 | 413 |8.76
5 87691Y-12-12 3/4" 19 12 61 60 |41.3 [8.76
6 87691Y-12-16 3/4" 25 16 75 70 | 41.3 |8.76
7 87691Y-16-12 1" 19 12 61 63 | 47.6 [9.53
8 87691Y-16-16 1" 25 16 75 73 | 47.6 [9.53
9 87691Y-16-20 1" 32 20 91 | 85.5|47.6 [9.53
10 87691Y-20-16 1.1/4" 25 16 75 77 54 110.3
11 87691Y-20-20 1.1/4" 32 20 91 | 89.5| 54 |[10.3
12 87691Y-24-20 1.1/2" 32 20 91 |945|635 |12.6
13 87691Y-24-24 1.1/2" 38 24 106 | 105 | 63.5 [12.6
14 87691Y-32-24 2" 38 24 106 | 113 | 794 | 12.6
15 87691Y-32-32 2" 51 32 132 | 136 | 794 |12.6
T RPASATRARE  MATERRERSKH87692Y-XX-XX,
Note:NO. in table match with braided hose.P/N 87692Y-XX match with spiral hose.

Yuyao Jiayuan Hydraulic Fittings Factory

www.jiayuanfitting.com




HEIEL HOSE FITTING <&

JIAYUAN
A
87613Y
~ I
=) ,J,,,, . R , SAE 7%% 6000 PSI
I
SAE FLANGE 6000 PSI
L
s E=BS BREHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2ffA3{E DN #5S DASH A D) L
1 87613Y-20-20 1.1/4" 32 20 69.8| 54 |10.3
2 87613Y-24-20 1.1/2" 32 20 78.8 1635 126
3 87613Y-24-24 1.1/2" 38 24 78.7 1635 |12.6
4 87613Y-32-24 2" 38 24 91.2|794 |12.6
5 87613Y-32-32 2" 51 32 91 [79.4 |12.6
x RPRASETRENLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN

[17

wANNEN

i

87643Y

45°

SAE % * 6000 PSI

SAE FLANGE 6000 PSI

e d= Eaeme EXEHOSE BORE R 3 DIMENSIONS
PART NO. FLANGE NO. A#iR&ZDN4FEDASH A H D
1 87643Y-20-20 1.1/4" 32 20 117 |415| 54 |10.3
2 87643Y-24-20 1.1/2" 32 20 120 {45.1 | 63.5 | 126
3 87643Y-24-24 1.1/2" 38 24 131 {48.2 | 63.5 126
4 87643Y-32-24 2" 38 24 140 | 53.8 794 | 12.6
5 87643Y-32-32 2" 51 32 163 | 619|794 |12.6
it FPRSHET A ENLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



EREiEsL HOSE FITTING

<t

JIAYUAN
A
= 72 87693Y
/////
/ E\ 90° SAE % 6000 PS|
T / -
90° SAE FLANGE 6000 PSI

UAA

~mits E=Bs BZEHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2#RA1Z DN #55 DASH A H D
1 87693Y-20-20 1.1/4" 32 20 106 | 89.5| 54 |10.3
2 87693Y-24-20 1.1/2" 32 20 106 | 94.5 | 63.5 |12.6
3 87693Y-24-24 1.1/2" 38 24 121 | 105 | 63.5 |12.6
4 87693Y-32-24 2" 38 24 121 | 113 | 794 | 126
5 87693Y-32-32 2" 51 32 150 | 136 | 794 | 12.6
T RPSHET ERLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Yuyao Jiayuan Hydraulic Fittings Factory
www.jiayuanfitting.com



	1: Catalogu
	2: 10411Y
	3: 10511Y
	4: 12611AY
	5: 13011Y-SP
	6: 14211Y
	7: 15611Y
	8: 16711Y
	9: 20111Y
	10: 20191Y
	11: 20211Y
	12: 20241Y
	13: 20291Y
	14: 20411Y
	15: 20441Y
	16: 20491Y
	17: 20511Y
	18: 20541Y
	19: 20591Y
	20: 20711Y
	21: 20741Y
	22: 20791Y
	23: 22611Y
	24: 22641Y
	25: 22691Y
	26: 22611DY-SM
	27: 24211Y
	28: 24241Y
	29: 24291Y
	30: 24211DY-SM
	31: 26711Y
	32: 26741Y
	33: 26791Y
	34: 26711DY-SM
	35: 28611Y
	36: 29611Y
	37: 87311Y
	38: 87341Y
	39: 87391Y
	40: 87611Y
	41: 87641Y
	42: 87691Y
	43: 87613Y
	44: 87643Y
	45: 87693Y
	46: 00110
	47: 03310
	48: 01200A
	49: 01200
	50: 00400/00401
	51: 00400D - 00621
	52: 01400
	53: 10411
	54: 10511
	55: 13011-SP
	56: 14211
	57: 12611A
	58: 15611
	59: 16711
	60: 20111
	61: 20191
	62: 20211
	63: 20241
	64: 20291
	65: 20411
	66: 20441
	67: 20491
	68: 20511
	69: 20541
	70: 20591
	71: 20711
	72: 20741
	73: 20791
	74: 22611
	75: 22641
	76: 22691
	77: 22611D-SM
	78: 24211
	79: 24241
	80: 24291
	81: 24211D-SM
	82: 26711
	83: 26741
	84: 26791
	85: 26711D-SM
	86: 28611
	87: 29611
	88: 87311
	89: 87341
	90: 87391
	91: 87611
	92: 87641
	93: 87691
	94: 87613
	95: 87643
	96: 87693
	97: P87341 - P87391
	98: FL - FS

